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The Problem of the Mangle of Aerators in Combined Biochemicial Pool
and Its Solution

YANG Shi-bin
School of Mechanical Engineering Southern Yangtze University Wuxi 214063 China

Abstract The common problem of combined biochemical pool in the system for waste-water treatment
in food and drink industries is that the mangle of aerators aerate asymmetrically in the contact oxida-
tion pool sometimes no aeration in large scope. Analyzing the cause of the problem of mangle of aera-
tors applying Venturi tube principles and calculating in theories we designed a specific scheme to
discharge the seeper in pipeline for solving the problem of the mangle of aerators and gained a good
practical result.

Key words combined biochemical pool aerator Venturi tube waste-water treatment

— UASB 1
_ 1
CODer BODS 70% ~ 85%
2002-05-10 2002 —-07 —16.

1964 —



512

3.0m
0.5m
0.5~1.5m?2.

[SS)

D 2~3 mm . 1~2

o] ke
N
,:q)&%

. ]
§ ]
K -+ y tee
E§%S A i o o o
J ,u'ﬁ'%j-'u'j 1 1— — 3—0 4—
ST e 2
i/ _3/ L‘_ \_; Fig.2 Diagram of aerator Structure
2.2
1— 2— 3—
4— 5— 6— 7—
8— 9— 10—
1
Fig.1 Diagram of contact oxidation pool
2
2.1
2
80 ~ 100 pm
5 000
3

3.1



5 513
Q— m s A— m?
1 0.5 m. uy=8.499 ms wu =
3.2 4.97m s u;=2.49m s u3=1.27m s u;=6.37
3.2.1 P m s.
o e oEg T
3“‘@“ ° g " %8
% == E frvs
P =XAP +AP  +Hy +P, ° S E
1 A  DNiIso B .’/}’/
XA P — ﬂm[r__ 35000 7 o
AP — H— 5 DN 5004 % )
m y— kg o7 G £
m’  Py— 101.325 kPa .
P >P 3
1 Fig.3 Digram of aeration pipeline system
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